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— Namown 991 29w Tiabn avancea omaye LR
A Hebrew maidservant with Simonin; the verse teaches us, saying;
‘and when you will send him away’

Overview

The &n»92 derives from (the extra) 1r%wn *31 that an 7°72v:7 72K who goes out with
0’110 (when she becomes a 77v1) receives npva from her master. NMdOIN explains
the need for this 7T12°%.

nvoIN asks:
- NP 291 3 DAY NPIYAY 42 DY THNY N 139WT 31909757 11919n

It is astounding! For later the Xn>12 expounds the D109 of 2 WY INRR® AN to

teach us that an 772y 72K receives Pivst, so why do we need two 292108 (the o°p10d
of nHwn °31 and TR AXY) to teach us the same thing?!

NID0IN answers:
= INDYN 91D N293¥N NNNI NPIYN 19295 MN KD THNNRD IND INT 92598 11199907 90D U

And one can say that both 2°?105 are necessary, for if not for the P10 of naRY Ax,
we would not have derived that 7paws? applies to an 7392p7 7R from the (extra) P09

of 1w 921 alone. The reason is -
= 5595 NPIYN N2 INSYN NDT 115

Since (if not for 7nnRS AX1) we do not find 7Piw7 at all by an 72y 7nx; therefore we

need the 717 on the P05 of TNNRY AR that there is 7pIv by 7727 AN -
= S7297 NYYT YW NN NIN NPIYN 13990YW 1IN KD THNNRD NN 1NIYN 931 XY IN)

And if it would only state TnnR? A& and it would not state yr5wn 521, we would not
have known the obligation of f1Paws by 7°72v7 72X 1n all cases, but only where she

leaves her master after six years, similar to an 72y (who receives npiwn after working for
six years) -
:NY D219°02 VAN

However if she leaves her servitude on account of 37329, she does not receive npavn

' This maoin references the X713 on 2,70.

23,0 (7%7) 02T

3a,m.

41,10 (781) 2°727. The entire P09 reads; 12 7Py TNHR? AX) 221 72¥ T2 M3 NPT 14X 7007 VIR DR AORY).

5 In fact we may have said since 1m%wn *21 is written in the masculine (and it did not state on>wn °27), it comes to
exclude an 7"72y7 7mK from 7pava. See ‘Thinking it over’ # 1.

6 The o’p10d there (7-2°,70 [AR1] 0127) regarding Apava state specifically >won un>wn noyawn mw 0w WY 7720
NA112 PAIYN PRIV 0P UAPWN RY TRV WO 1YW 031 . Java.
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(because she did not work the full six years), therefore the p109 of 1an>wn °21 teaches us that an 7k
7°72v1 receives 7Py in all instances even when she is 0°12°02 XX (before six years passed).

Summary
TNnRY AR teaches us that (generally) there is TPy by an 7292y AnR (who is DR¥Y

ww31); and 1nPwn °21 teaches us that even by 2°11°02 NR¥Y, she also receives pv.

Thinking it over
1. m»poIn writes that (if not for the P109 of INNKRY IX) we would not derive npiv: for
an 7°2yn IR from the 2109 of 1MPwn °01 alone.” However there is the wpn of 12y

725 (mentioned many times);® why would we distinguish between them?!?

2. mpon explains why we need the 105 of 117%wn *21 (since there is the P19 of AN
1nnRY). However, it is not understood, we need the 7109 of 1uA7wn 21 (as the Xaa
states explicitly) to teach us that there is 7pv7 by 1787 NNy Har! 10

7 See footnote # 5.

& The p109 states (in 2,70 [[1X1] ©*727) 7°12v7 I *M2v7 AR T2 797 *2. See 121 Mn 71 X7 77 2,7 'O
9 See X"2wn (and nwn nbm)..

10 See footnote # 5 and N W N2,
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